, ﬁ @ @ @ Giai phuong trinh khoi

Tén: Ngay thang: Piém:
47 = 33 +75x— 50 = 0 X = 175" +9%4x— 168 = 0

X —7x* —38x+240 =0 X =7 —20x+96=0

X =47 +3x=0 X =97 +8 =0

6> + 252 —x—20=0 X+ 6F —27x =0

X+ 5> —38x— 168 = 0 X +x*—8lx—81=0
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BT 6§

Giai phuong trinh khoi

Tén:

4 —33x* +T5x— 50 = 0
5

-, 2,5
4

x:

X —Tx> —38x+ 240 = 0
x=-6,8,5

X —4¢ +3x=0
x=3,1,0

6x° + 252 —x—20=0
5
x=-,—1,-4
6

X+ 5x> —38x— 168 = 0
x=—4,-7.6

Ngay thang: Diém:

X — 17 +9%x— 168 = 0
x=4,7,6

X =7 —20x+96=0
x=-4,83

X —9° +8 =0
x=28,1,0

X+ 6¢ —27x=0
x=-973,0

X +x—8lx—81=0
x=-9,-1,9
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